Mid-term Exam 






Econ 355

Name________________                            



October 13, 2006

TA’s Name______________
Instructions: Do all Parts. You may have one 3 X 5 card with facts only in your possession.

Part I: (50 marks).

You've read an article in the paper that says your country has been described as a "developed country"

In the form of a letter to the editor, respond to this assessment by explaining why you agree or disagree, taking account of both economic and social indicators in your explanation.  250-300 words.

Part II: (Total 50 points)

True, False or Uncertain with reasons. Each question is worth 10 marks. Reasons count 8 of 10 points. 
1. Illustrate why you conclude that a country whose crude birth rate is 35 per thousand and whose crude death rate is 10 per thousand is in stage II of the demographic transition.  True, False or Uncertain    
2. Kuznet’s argued that it was difficult to become a developed country because a poor country must save annually 25% or more for 50 years if its population grew by 2%. True, False or Uncertain    
3. Under the structural model of development a balanced growth path must be achieved where the rate of migration just equals the rate of industrial job creation in order to avoid disguised unemployment. True, False or Uncertain    
4. The Human Development Index has three components to its calculation. With the aid of information from your country illustrate why your countries Human development index ranks your country higher than a simple GNI measure per person. True, False or Uncertain    
5. Given the following diagram is it true that A is the low level equilibrium trap and C represents the high level equilibrium trap. True, False or Uncertain    

[image: image2.png]Figure 6.8 The Malthusian Population Trap
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Part III: This section is worth 50 Points

1. There exist two competing views why people move. The economic view is based on a rate of return analysis while the non-economic argument is based on the gravity model. 
a. Briefly outline the main arguments of each model (25 points).

b. Having seen the movie Beijing Bicycle choose which migration model presented in lecture is most appropriate to describe the movie. (25 points).
[image: image1]